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Question Number : 1 Question Id : 87827043793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How much of protein content makes an E.coli cell, in terms of the percentage of the total weight of the cell ?

1.15.0
2.0
3.0
4.30.0

Options :

878270172041. 1
878270172042. 2
878270172043. 3

878270172044. 4

Question Number : 1 Question Id : 87827043793 Question Type : MCl(
collegedunia:

Question Mandatory : No Calculator : None Response Time : N.A Thi

~



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PIRS & Bl gor & URd & o & UIdH &1 Tl 901 0 2 @i DIkl 3 &d1 82

1.15.0
2.50
3.05
4.300

Options :

878270172041. 1
878270172042. 2
878270172043. 3

878270172044. 4

Question Number : 2 Question Id : 87827043794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The science of collecting small molecules in a given cell under a specific set of conditions is called

1. Proteomics

2. Transcriptomics
3. Lipidomics

4 Metabolomics

Options :

878270172045. 1
878270172046. 2
878270172047. 3

878270172048. 4

Question Number : 2 Question Id : 87827043794 Question Type : MCl( gcollegedumas

~



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ORI o T AT U8 & ded ¢ s SIIa! 5 B AU &l 3551 B o 19 Pl Dl oIl 6

R IEEIEES

Options :

878270172045. 1
878270172046. 2
878270172047.3

878270172048. 4

Question Number : 3 Question Id : 87827043795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Pairs of sterecisomers that are not mirror images of each other are called

1. Enantiomers

2. Chiral centres

3. Racemic mixture
4 Diasteresomers

Options :

878270172049. 1
878270172050. 2
878270172051. 3

878270172052. 4

gcollegedunias

~



Question Number : 3 Question Id : 87827043795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hfeaoaeys 79 91 U8 g & cUU U= 8l §, ... PEl Al &
1. Uidfea w4t 991994

2 B hg

3. ¥Oias fHyur

4 3YidievE! Hf99 gH190g

Options:

878270172049. 1
878270172050. 2
878270172051. 3

878270172052. 4

Question Number : 4 Question Id : 87827043796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

In 2014, scientists from Scripps Research Institute, California announced the development of 6 base DNA A new base pair
that they added to the standard 4 base (ATGC) DNA was called

1XY
2.PQ
JAT
4.G'C*

Options :
878270172053, 1
878270172054. 2
878270172055. 3
gcollegedunias

878270172056. 4

~



Question Number : 4 Question Id : 87827043796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20147, 60 Rd $Tcde, DI & RT®1 4.6 DNA 4RI & FowT ) G900 31| T 701 4. ord S
DNA & 1@ 4 §RI (ATGC) AWl ST

1XY
2.PQ
JAT
4.G'C*

Options:

878270172053. 1
878270172054. 2
878270172055. 3
878270172056. 4

Question Number : 5 Question Id : 87827043797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How much percentage of human genome is represented by the exome?

s i e i
A = =
[s

Options :
878270172057. 1
878270172058. 2 gcollegedunias

878270172059. 3 i



878270172060. 4

Question Number : 5 Question Id : 87827043797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ad Si-H @1 a1 Uia=id died™ (TaHH) R Gl 91T 872

1.4
2 10
3
4 20

Options :

878270172057. 1
878270172058. 2
878270172059. 3
878270172060. 4

Question Number : 6 Question Id : 87827043798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most abundant monosaccharnde in nature is

1. Maltose
2. Glucose
3. Lactose
4 Amylose

Options :

878270172061. 1 .
collegedunia:
878270172062. 2

~



878270172063. 3

878270172064. 4

Question Number : 6 Question Id : 87827043798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tohid H TR |1 H U S dTell S

536

I
2.7

4 Qﬂ E'uﬁ E

Options:

878270172061. 1
878270172062. 2
878270172063. 3

878270172064. 4

Question Number : 7 Question Id : 87827043799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the evolutionary standpoint, extreme thermophiles are more closely connected with which one of the following:

1. Cyanobacteria
2. Methanogens

3. Fungi

4 Microsporidia

Options :

878270172065. 1 gcollegedunias
878270172066. 2 )



878270172067. 3

878270172068. 4

Question Number : 7 Question Id : 87827043799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

b & SISV U, FEfciRed § 4 g 91y 3fd Ay sid FHded ¥ 9 gU s

1. figRd S [@rEeadia
2. oS (@YHiem)

3. Bdd

4 TR (TR TG

Options:

878270172065. 1
878270172066. 2
878270172067. 3

878270172068. 4

Question Number : 8 Question Id : 87827043800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sulfur bacteria are examples of which of the following:

1. Organotrophs
2. Autotrophs

3. Lithotrophs
4 Phototrophs

Options :

878270172069. 1 gcollegedunias
878270172070. 2 )



878270172071. 3

878270172072. 4

Question Number : 8 Question Id : 87827043800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

— ;i

JofeRad 8 O fegdr Iee &

HbR SfaTY] (dadifan)

2 Ul

Options:

878270172069. 1
878270172070. 2
878270172071. 3

878270172072. 4

Question Number : 9 Question Id : 87827043801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has the highest heat of vaporization (J/g) ?

1. Methanol
2. Ethanol
3. Water

4. Butanol

Options :

878270172073 1 gcollegedunias

~

878270172074. 2



878270172075. 3
878270172076. 4

Question Number : 9 Question Id : 87827043801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafafad | 9 oy o aeiieu & F1 (J/g) 94 HE 52
1. ByEld
2. SN
3. 9

4. g
Options:
878270172073. 1
878270172074. 2
878270172075. 3

878270172076. 4

Question Number : 10 Question Id : 87827043802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At 25 °C, the degree of ionization of pure water at equilibrium is :

1. 20 per 10° molecules
2. 10 per 10° molecules
3. 2 per 10° molecules

4. 12 per 10? molecules

Options :

878270172077. 1 gcollegedunias

~

878270172078. 2



878270172079. 3

878270172080. 4

Question Number : 10 Question Id : 87827043802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25°C TR HMaRT § g oId & HGHIHR0 Bl Dife &

1. 20 Ui 10931
2. 10 Ufd 109317
3. 2 Ufd 109319]

4. 12 Ufd 109317

Options:

878270172077. 1
878270172078. 2
878270172079. 3

878270172080. 4

Question Number : 11 Question Id : 87827043803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the following data, identify the correct pH value of sea water

1.6.5
270
3. 78
4 85

Options :

878270172081. 1 gcollegedunias
878270172082. 2 )



878270172083. 3

878270172084. 4

Question Number : 11 Question Id : 87827043803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad sies! I, s 5id & 92 pH A & UgdH &%

1.6
2.7.0
3. 7.8
4 85

Options:

878270172081. 1
878270172082. 2
878270172083. 3

878270172084. 4

Question Number : 12 Question Id : 87827043804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hungry bone syndrome is associated with

1. Diabetes mellitus

2. Hyperparathyroidism
3. Sodium

4 Vitamin B

Options : .
collegedunia:

878270172085. 1

~



878270172086. 2
878270172087. 3

878270172088. 4

Question Number : 12 Question Id : 87827043804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I R A R AR B K 1 .

b

1. gofedis Aferey

2. 3fd IRIYTRISIEH

3. 9ifsgH

4 faerieq |t
Options:

878270172085. 1
878270172086. 2
878270172087. 3

878270172088. 4

Question Number : 13 Question Id : 87827043805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-| List-lI

Functional group|Description
(A). Hydroxyl  |(I). DNA

(B). Carboxyl |(Il). Proteins

(C). Amino (lll). Polar

(D). Phosphate |(IV). Fatty acids

Choose the correct answer from the options given below:

1. (A) - (I1), (B) - (IV), (C) - (I}, (D) - (I}

2. (A)- (1), (B) - (1), (C) - (11}, (DY - (IV})

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (IV), (B) - (11}, (C) - (1), (D) - (1)
Options :

878270172089. 1
878270172090. 2
878270172091. 3

878270172092. 4

Question Number : 13 Question Id : 87827043805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Tal-1 3R il &7 FaH &3

g -1l
dAfd® 945  duiA
(A) BIS ST |(1) ST

(B) BETGTa (1) HiE
(C) SHHHAT () yara
(D) BIEEE  |(IV) TT 3

T iea 739 SR T

1-{F\}-f_|”} (B) - {WJ (C) - (1), (D) - ()
2. (A)- (), (B) - (1), (C) - (1l :' (D} (IV)
3. (A) - (1), {E!I‘—[I (C) - (IV), (D) - (1)
4 (A) - (IV), (B) - (l11), (C) - (1}, (D) - (11}

Options:

878270172089. 1
878270172090. 2
878270172091. 3

878270172092. 4

Question Number : 14 Question Id : 87827043806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In cytosol, the product yield from the oxidation of one molecule of glucose is

1. 2 pyruvate + 2 NADH + 2 ATP
2. 2 pyruvate + 1 NADH + 2 ATP
3. 1 pyruvate + 2 NADH + 2 ATP
4 1 pyruvate + 1 NADH + 2 ATP

Options :

878270172093. 1

878270172094 2
878270172095. 3 @ collegedunias

~



878270172096. 4

Question Number : 14 Question Id : 87827043806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DIRBITacH H, DS & U Y & HRARUY  Idd el s

e

1. 2 pyruvate + 2 NADH + 2 ATP
2. 2 pyruvate + 1 NADH + 2 ATP
3. 1 pyruvate + 2 NADH + 2 ATP
4 1 pyruvate + 1 NADH + 2 ATP

Options :

878270172093. 1
878270172094. 2
878270172095. 3
878270172096. 4

Question Number : 15 Question Id : 87827043807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

(A). Hypokalemia

(1). Sweat glands

(B). Hypocapnia

(I1). COs

(C). Sudoriferous glands

(IlI). Spermatogenesis

(D). Sertoli cells

(IV}. Potassium

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (1T}

2. (A)- (), (B) - (1), (C) - (1T}, (DY - (IV})

3. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270172097. 1
878270172098. 2
878270172099. 3

878270172100. 4

Question Number : 15 Question Id : 87827043807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Gal-1 3R Tl T e &3

it gl
(A) ETSTIBEET  |(1) TEH @ T
(B) ETgUiGwAT (1) COs

(C) geeewa ditm|(i) s
(D) TRETS SwifRrETE |(1v) T fims
S R e ER i

1. (A) - (IV), {EH-{II} (C)- (),
2. (A)- (1), (B) - (I, (C) - (1),
3. (A) - (1), {B‘—f_l.( ) - (IV),
4 (A)- (1N, (B) - (IV), (C) - (I

(D) - (111)
(D} (V)
(D) - (111)
), D}-l‘.”}

Options:

878270172097. 1
878270172098. 2
878270172099. 3

878270172100. 4

Question Number : 16 Question Id : 87827043808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An antigenic determinant to which a given antibody binds is called

1. epimer
2. cytokine
3. epitope
4 anticodon

Options :
878270172101. 1
878270172102. 2

878270172103. 3 :
collegedunia:s

878270172104. 4 <



Question Number : 16 Question Id : 87827043808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=X

UH Ufaed Rulie forgd v uferet sfda glare &1 Selddl s

1. Jfed® (TUHR)
2. Higcldhig-

3. Ufue
4. yfauge (Gdals)

Options:

878270172101. 1
878270172102. 2
878270172103. 3

878270172104. 4

Question Number : 17 Question Id : 87827043809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4-hydroxyproline is an example of

1. Nonstandard amino acid
2. Hormone
3. Antibiotic
4. Antibody

Options :

878270172105. 1

878270172106. 2
878270172107.3 @ collegedunia:

~



878270172108. 4

Question Number : 17 Question Id : 87827043809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 B3I U 380 &

1. TRAF® AJHHAT 3
2. B

3. ufaaifde® (edlarifes)
4. Tfaal

Options :

878270172105. 1
878270172106. 2
878270172107. 3

878270172108. 4

Question Number : 18 Question Id : 87827043810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A substance that can act either a base or an acid, is called

1. ampholyte
2. analyte
3. antagonist
4. aptamer

Options :
878270172109. 1
878270172110. 2 gcollegedunias

~

878270172111.3



878270172112. 4

Question Number : 18 Question Id : 87827043810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG Ul S aR U S wUH s R Ibdiedl . Dol Aldis

1. THEBICgC
2 TAIEEe
3 Teriie
4. TPTR

Options :

878270172109. 1
878270172110. 2
878270172111.3

878270172112. 4

Question Number : 19 Question Id : 87827043811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A DNA or amino acid sequence consisting of the residues that most commonly occur at each position in a set of similar
sequences are called

1. Classified sequence

2. Compound sequence
3. Conjugated sequence
4. Consensus sequence

Options :

878270172113. 1 :
gcollegedumas
878270172114, 2 -



878270172115. 3

878270172116. 4

Question Number : 19 Question Id : 87827043811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP DNA T1 et S5 foreel 0 U0 ¥ T U 3 e ol 3 RN g & 9% BRI 8

1. TG A
2. T 3R
4 el S

Options:

878270172113. 1
878270172114. 2
878270172115. 3

878270172116. 4

Question Number : 20 Question Id : 87827043812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A spatial arrangement of substituent groups that are free to assume different positions in space, without breaking any bonds
(due to freedom in bond rotation) is called

1. rotation

2. conformation
3. conjugation
4 contig

Options : .
P gcollegedumas

878270172117.1 =



878270172118. 2
878270172119. 3

878270172120. 4

Question Number : 20 Question Id : 87827043812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R B 1 T T a o o +f oy 1 s o (a0 e o ey R e Bl gu g
AT A S 7 |

1.0
2. 3
4 197 (@)

Options:

878270172117.1
878270172118. 2
878270172119. 3
878270172120. 4

Question Number : 21 Question Id : 87827043813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series of overalapping clones defining an uninterrupted section of a genome, is called

1. contour
2. contig
3. capsid
4 chiral

gcollegedunias

Options : ~



878270172121. 1
878270172122. 2
878270172123. 3

878270172124. 4

Question Number : 21 Question Id : 87827043813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y & U (aly Ge ol Ruiftd &3 e sifderd ae-l & ' Yed @l $el ol &

1. 9=

2. BT (3T5H)

3. Ufeal (@s)
Options :

878270172121.1
878270172122. 2
878270172123. 3

878270172124. 4

Question Number : 22 Question Id : 87827043814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Enzymes that create a phospondiester bond between the 3' end of one DNA segment and the 5" end of another, are called

1 lyase
2 ligase
3. oxidoreductase

4 hydrolase
gcollegedunias

Options : i



878270172125. 1
878270172126. 2
878270172127.3

878270172128. 4

Question Number : 22 Question Id : 87827043814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T3h, ol U DNA W8 3 IR iR g & 5 iR & oY 1P BRmIeEwer 16y &1d &, 3% del o &:

1. 0 5»3"\5

2. ) s' \J
4 FIRgITd

Options :

878270172125. 1
878270172126. 2
878270172127. 3

878270172128. 4

Question Number : 23 Question Id : 87827043815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The component of the total energy of a system that can do work at constant temperature and pressure, is called

1. enthalpy
2. entropy
3. free energy

4 kinetic energy g
collegedunia:

~

Options :



878270172129. 1
878270172130. 2
878270172131.3

878270172132. 4

Question Number : 23 Question Id : 87827043815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US YUITcH! &1 ol Soll dI Yued ol (R AU 3R 19 1R H1d H ool &, el 9l &:

1. G
2 Terdi
3. qdd Sl
4. 711 Sl

Options :

878270172129. 1
878270172130. 2
878270172131. 3

878270172132. 4

Question Number : 24 Question Id : 87827043816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pH at which an amino acid has no net electric charge and thus does not move in an electric field, is called:

1. isomer
2 isoelectric
J. 1soprene

4. isozyme gcollegedunias

~



Options :

878270172133. 1
878270172134. 2
878270172135. 3
878270172136. 4

Question Number : 24 Question Id : 87827043816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 pH o/ R U 31 o7 H P13 faGga 9% Tl €11 & 30k 95 fag &1 & 7id 7] &2l ¢, gl ol &

1. TG4 (R

2. THIGHd (MEUISaas)
3 HEOTH

4 GAUSTEH (3M58TEH)

Options :

878270172133. 1
878270172134. 2
878270172135. 3

878270172136. 4

Question Number : 25 Question Id : 87827043817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Enzymes that play two distinct roles, at least one of which is catalytic, the other may be catalytic, regulatory or structural,
are called

1. moonlighting
2. mutases
3. polymerases
4 paralogs

Options :

878270172137.1
878270172138. 2
878270172139. 3

878270172140. 4

Question Number : 25 Question Id : 87827043817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QT ol &) SferT-ofci T o & ol 0 o 8 0 SR &, G SaiR®, R 71 e &) Ul &, 3

1, J e
ZRUEEE
4 T

Options:

878270172137. 1
878270172138. 2
878270172139. 3

878270172140. 4

Question Number : 26 Question Id : 87827043818 Question Type : M( g

collegedunia:
Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct ?

(A). DNAmicroarray is a collection of DNA sequences immobilized on a solid surface that can be probed by hybridization
(B). Differential centrifugation describes the separation of cell organelles by different rates of sedimentation

(C). Amino acids that cannot be synthesized by humans but are synthesized by microbes are called essential amino acids
(D). Equilibrium constant is specific for each chemical reaction

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2.(A), (B) and (C) only.
3.(A), (B), (C)and (D).
4.(B), (C)and (D) only
Options :
878270172141. 1
878270172142. 2
878270172143. 3

878270172144. 4

Question Number : 26 Question Id : 87827043818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



ffefer S A AN YA T 2 -
(A) 31 T T eiargre ol o1 U W R S T U S 1 0 U o] S g o 1 of W
(B) faHcd HUdhST T I fafoel a3 51 DIRIET 7 & JUaHey 1 0 Bl |

()P 17 e 7 G il T Tod o el , lfo] Geeonal T SReia [ oI, 97 H1aRa® AT
GG

(D) V® TeTa el & fow o Rl ol gl 2|
A few o e 1 9 O SR T

1, 0 (A), (B)a?m )
2W<A}(

3 (), (B [c)a?m)
B),

)
4 a1 (B), (C) iR D)

Options :

878270172141.1
878270172142. 2
878270172143. 3

878270172144. 4

Question Number : 27 Question Id : 87827043819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Read the following statements carefully

(A). DNA ligases are enzymes that create a phosophodiester bond between DNA fragments

(B). A protein containing one or more prosthetic groups is called a conjugated protein

(C). Atype of enzyme inhibition reversed by increasing the substrate concentration is called competitive inhibition

(D). Two stereoisomers of a given sugar that differ only in the configuration about carbony! carbon atom are called anomers

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2. (A), (B)and (D) only.
3.(A), (B), [C)and( ).
4.(B), (C) and (D) only
Options :

878270172145. 1
878270172146. 2
878270172147.3

878270172148. 4

Question Number : 27 Question Id : 87827043819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



e oo B I T

()3 T T T R A B & T DNA T el 5 e I ToTRURR e 1 2

(B) U@ T fiw FHM (TR ! a1 éH B S T Fgl T )

(C) U TOR 1 CaTEH a1y o W] 3 TR Wil g1 ooind gl 5, 38 Wierael ofy g Tl 3|

(0) foreh T e 01 o &) P a it oot el Tt TR b Far B ot 31 &, 3% U1 gl oe g
i w0 et 4 9 W) SR

1. (A), (B) 3R (C)
2W(A ). (B) R (D)

3. (A), (B), (C) 3R D)
4 qd (B), (C) 3R (D)

Options :

878270172145. 1
878270172146. 2
878270172147.3

878270172148. 4

Question Number : 28 Question Id : 87827043820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aresearcher enginesrs a fac operon on a plasmid inactivating all parts of the fac operator and the fac promoter, replacing
them with the binding site for the LexA repressor and promoter regulated by LexA The plasmid is introduced into E.coll cells
that has a lac operon with an inactive acZ gene. Under what conditions will these transformed cells produce -
galactosidase?

1. On subjecting E.coli cells to high levels of a DNA damaging agents like UV light
2. On starving E.coli cells

3. On growing E.coli cells in lactose rich medium

4. On co-culturing E.coll cells with B.subtilis

Options : gcollegeduniaé

878270172149. 1 =



878270172150. 2
878270172151. 3

878270172152. 4

Question Number : 28 Question Id : 87827043820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 @1 A T3 QIS R fac AR S0 91 lac a0 &K Jac Tq® & G4 47T 3l R e 3% LexA IR
o o0 ST e 3R LexA g1 fafufird vade & 9y Fofi o | @ie @t 2@t aifemred & vioy o 8
o T Jac TRM, FSAT lacZ 514 & TY g1 | o6 Rl o 4 gl aiiand p-aeiitied! &1 Saed &

1. Ecoli @ JATR & DNATF % aIl BHd! A Hiap B3H1 ot WS JoR
2. E coli diRiael ol gyféa W

3, T W A1  E.coli BRI @ afid &

4. E.colf PYRI®N & TN B subilis 196-5a1d BT

Options:

878270172149. 1
878270172150. 2
878270172151.3

878270172152. 4

Question Number : 29 Question Id : 87827043821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the basis for protein structural classification?

1. length
2. genus
3. composition

4. motif .
gcollegedunlas

~



Options :

878270172153. 1
878270172154. 2
878270172155. 3

878270172156. 4

Question Number : 29 Question Id : 87827043821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dH H ®H G Ul SEATd® o0 B HIUR 82

Eim
AP
fs

Options :

878270172153. 1
878270172154. 2
878270172155. 3

878270172156. 4

Question Number : 30 Question Id : 87827043822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The catabolic lysosomal degradation of cellular proteins is called

1. phagocytosis
2. autophagy

3. chaperon

4. autotroph

Options :

878270172157. 1
878270172158. 2
878270172159. 3

878270172160. 4

Question Number : 30 Question Id : 87827043822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BB UIEH & U4 AgraH &R0 &I Hel 9l &

1. Y& fohaT
2 T IS
3. ‘ijq: {u"l

4 Uyl

Options:

878270172157. 1
878270172158. 2
878270172159. 3

878270172160. 4

Question Number : 31 Question Id : 87827043823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Which one of the following i, no. of molecules per gram molecular weight, represents the Avogadro's number (N) ?

1.6.02x 10}
2.602x10"
1
1

2

3.6.02x10
4 6.02x10%

Options :

878270172161. 1
878270172162. 2
878270172163. 3

878270172164. 4

Question Number : 31 Question Id : 87827043823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot & ¥ & [l &1 G Uid 71 A0ad 4R, TERITS! ST (N) &I FHefUd &l 52

1.6.02x 103
2.6.02x10%
3.6.02x 10%
4.6.02x 10%

Options:

878270172161. 1
878270172162. 2
878270172163. 3
878270172164. 4

Question Number : 32 Question Id : 87827043824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT ~ | ™ T

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



The energy derived from noncovalent interactions between enzyme and substrate is called

1. bond energy

2. activation energy
3. binding energy
4. entropy

Options :

878270172165. 1
878270172166. 2
878270172167.3

878270172168. 4

Question Number : 32 Question Id : 87827043824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ToTeH 3R gebce & 0 IR-Ug 9o sl S U S &l . Palad 8

1. G4 Goll
4 Tt

Options:

878270172165. 1
878270172166. 2
878270172167. 3

878270172168. 4

Question Number : 33 Question Id : 87827043825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT ~ | ™ T

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



One calorie (cal) equals to how many joules (J) ?

1..2.18
2. 418
3.6.18
4 718

Options :

878270172169. 1
878270172170. 2
878270172171.3
878270172172. 4

Question Number : 33 Question Id : 87827043825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF daR (cal) fa- @ (J) & ST 8idl 82

1.2.18
2. 418
3.6.18
4 718

Options:

878270172169. 1
878270172170. 2
878270172171. 3

878270172172. 4

Question Number : 34 Question Id : 87827043826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

Protein name

Molecular weight (KDa)

(A). p-galactosidase

(). 14.4

(B). Bovine Serum Albumin (11). 116.25
(C). Ovalbumin (111). 45
(D). Lysozyme (IV). 66.2

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (

2. (A) - (1), (B) - (IN), (C) - (1), (D) - (IV

3. (A) - (I, (B) - (IV), (C) - (1), (D) - (I

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il
Options :

878270172173. 1
878270172174. 2
878270172175. 3
878270172176. 4

D) -l

D) -

e

Question Number : 34 Question Id : 87827043826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



- AR -1 T e B

-1 -1l
WSAmaE e uR (@i
(A) B-TTTERIgSE (1) 14.4
(B) SaTS SRA TegHA|(ll) 116.25
(C) aiga- (I 45
(D) T EISTSH (IV) 66. 2
-4 fou T fogedt & € 981 SR 41|

1. (A) - (IV), (B) - (I), (C) - (l1), (D) - (1)
2. (A)- (1), (B) - (I), (C) - (1), (D) - (IV})
3. (A) - (11}, (B) - (IV), (C) - (111), (D) - (1)
4. (A) - (ll), (B) - (IV), (C) - (1}, (D) - (1)

Options:

878270172173. 1
878270172174. 2
878270172175.3

878270172176. 4

Question Number : 35 Question Id : 87827043827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of enzyme units per miligram of total protein is called:

1. Activity

2. Specific activity
3. Keat

4 Km

Options :
878270172177. 1

878270172178. 2
878270172179.3 @ collegedunias

~



878270172180. 4

Question Number : 35 Question Id : 87827043827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui & ufd el & tesa sosdl ST 9B al . del ol &

1. Tehariaig

2. fafRry fearfald
3 Kz

4 K,

Options :

878270172177. 1
878270172178. 2
878270172179. 3

878270172180. 4

Question Number : 36 Question Id : 87827043828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a protein has two or more polypeptide subunits, their folding arrangement is called:

1. Primary structure
2. Secondary structure
3. Tertiary structure
4. Quaternary structure

Options :
878270172181. 1
878270172182. 2 gcollegedunias

~

878270172183. 3



878270172184. 4

Question Number : 36 Question Id : 87827043828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vo
|

4 U@ WA B o 1 3@ UiaUPRS SU-301Ra1 aldl &, dl 379 39 8 [qaM @l Bl 9l &

1. TfEd G
3 TTD HGHT

Options :

878270172181. 1
878270172182. 2
878270172183. 3

878270172184. 4

Question Number : 37 Question Id : 87827043829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



When wool sweaters are washed in hot water, they shrink. In contrast, when silk clothes are washed they do not shrink
when washed under the same conditions

(A). The B-woolen polypeptide chains are converted to the native a helical conformation
(B). The structure of silk-p sheets is more stable than that of the wool

(C). The p-woolen polypeptide chains remain in their native conformation

(D). The structure of silk-p sheets is less stable than that of the wool protein structure
Choose the correct answer from the options given below:

) only.

)and (D) only.
), (C)and (D).
.(B), (C)and (D) only

Options :

878270172185. 1
878270172186. 2
878270172187.3

878270172188. 4

Question Number : 37 Question Id : 87827043829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



9 31 & Wl o1 O A S T, o S R 0 1 3% ol wee ot A ve ven 6 e t e 2 1
R T

() B-31t UIcTUPTES 4aehadl @1 el a Rfcieral 6 & oRvafda i s 31

(B) -5 Wte & U 3 1 g o oftw RR AR

(C) BT TP STt S v SR el )

(D) . e 1 TR Il e ST ) o & A FRR R

TR i A W SR T

1.0 (A), (B)
2W(A ). (B) R D)

3 (), (B), (C) 3R D)
4 a1 (B), (C) iR D)

Options :

878270172185. 1
878270172186. 2
878270172187.3

878270172188. 4

Question Number : 38 Question Id : 87827043830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A genetic mutation that limits the production of glucocerebrosidase, an enzyme that is responsible for breaking down fats,
leads to which of the following disease

1.Klinfelter Syndrome
2. Phenylketonuria

3. Gaucher's disease
4 Turner Syndrome

Options: .
collegedunia:s

878270172189. 1

~



878270172190. 2
878270172191. 3

878270172192. 4

Question Number : 38 Question Id : 87827043830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T USR8 db e o o1y Soardl 3, o i Sauivaad 35e Saled ! Wi ael
& FafcTa H 4 7w 3 @1 BRU &l 3

3 TR
4 TR Tagm

Options:

878270172189. 1
878270172190. 2
878270172191.3

878270172192. 4

Question Number : 39 Question Id : 87827043831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s a disease caused by defect in the enzymes necessary for heme biosynthesis?

1. Lesch Nyhan syndrome
2. Porphyria
3. Huntington's disease

4 Marfan Syndrome
collegedunia:

~



Options :

878270172193. 1
878270172194. 2
878270172195. 3
878270172196. 4

Question Number : 39 Question Id : 87827043831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SIqURCIl & T HMTaRge CeTAl H G & SR FHiRad 3 ¥ S 91 3 81l 87

2 ifthfa
3 BT M

Options :

878270172193. 1
878270172194. 2
878270172195. 3
878270172196. 4

Question Number : 40 Question Id : 87827043832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A mutation in the GLA (alpha galactosidase A) gene leads to which one of the following conditions?

1. Fabry disease

2. Gaucher disease

3. Phenylketonuria

4. Cri-du-chat syndrome

Options :

878270172197. 1
878270172198. 2
878270172199. 3

878270172200. 4

Question Number : 40 Question Id : 87827043832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofl U0 U (3hTcide bsd A) o | Jaiady FHafaiad 8§ 3 fog fRufd & ok o Sarg?

1. Bl I

2 IR I

3. DI g Rl
4. Top-g-d¢ Gagm

Options:

878270172197. 1
878270172198. 2
878270172199. 3

878270172200. 4

Question Number : 41 Question Id : 87827043833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT ~ | ™ T

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



A group of contiguous nucleotides codons in DNA molecule that does not include a termination codon is called:

1. Open Reading Frame
2. Operon

3. Genetic code

4 Cis frans system

Options :

878270172201.1
878270172202. 2
878270172203. 3

878270172204. 4

Question Number : 41 Question Id : 87827043833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA 0] 5 R fkaiergs Blei &1 Wb U, foras T YHI0H e i T8l gl 5, Sl ol &

1. faqqa= TR
2. JAiD (HIWRH)
4 TR E

Options:

878270172201. 1
878270172202. 2
878270172203. 3

878270172204. 4

Question Number : 42 Question Id : 87827043834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 g

collegedunia:
Minimum Instruction Time: 0

~



Correct Marks : 4 Wrong Marks : 1

The step in an enzymatic reaction of a pathway that needs greatest amount of activation energy is called

1. Rate constant
2. Rate limiting

3. Rate enhancing
4- KEE'.

Options :

878270172205. 1
878270172206. 2
878270172207. 3

878270172208. 4

Question Number : 42 Question Id : 87827043834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T oo o o R o o o e o § o g} @ sae

1. Sffifehal % i
2. i eT g
3 AT AT
4 Keat

Options :

878270172205. 1
878270172206. 2
878270172207.3

878270172208. 4

Question Number : 43 Question Id : 87827043835 Question Type : M(
Is Question Mandatory : No Calculator : None Response Time : N.A1 QCOIIegedunias

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A sequence in an mENA that is required for binding bacterial ribsomes is called

_ Short tandem repeat
- Long tandem repeat
_ Shine-Dalgarno
.Ras

s o

Options :

878270172209. 1
878270172210. 2
878270172211. 3

878270172212. 4

Question Number : 43 Question Id : 87827043835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mRNA 5 T 3Hd ol daiige ASagIE &I ditH & (o 3awgd &, el oldl 6|

1. Y 4G FRId0D
2. G a5 TRIAd®
3. QM-I

4.9

Options :

878270172209. 1
878270172210. 2
878270172211.3

878270172212. 4

Question Number : 44 Question Id : 87827043836 Question Type : M(
gcollegedunias

Is Question Mandatory : No Calculator : None Response Time : N.A1

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Hyponatremia is a condition where the concentration of the following ion decreases below normal level in plasma

1. Sodium

2. Potassium
3.Zinc

4 Magnesium

Options :

878270172213. 1
878270172214. 2
878270172215. 3

878270172216. 4

Question Number : 44 Question Id : 87827043836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRI U Ue R § el Meftiaa S o1 g wie § 9 R 3 9 8l o 5l

Options:

878270172213.1
878270172214.2
878270172215.3

878270172216. 4

uestion Number : 45 Question Id : 87827043837 Question Type : M( .
< < Q P gcollegedumas

Is Question Mandatory : No Calculator : None Response Time: N. AT -



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A human condition of acid-base disturbance with high H+ ions in the blood is called

1. Acidosis
2. Acidemia
3. Alkalemia
4. Alkalosis

Options :

878270172217.1
878270172218. 2
878270172219.3

878270172220. 4

Question Number : 45 Question Id : 87827043837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A4 H U U Rufer Foresl e H I He 3T & PR 3il-4R fdgiH 3 21l 5, &1 gl ol &

1. Teii
3. Wfetriral
4 ey

Options :

878270172217. 1
878270172218. 2
878270172219. 3

878270172220. 4

Question Number : 46 Question Id : 87827043838 Question Type : M( gcollegedumas

~



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In kidneys the glomerular filtration rate (GFR) depends upon

(A). the difference in hydrostatic and oncotic pressures between the glomerular capillaries and the lumen of the nephron
(B). the nature of glomerular basement membrane

(C). total available filtration area

(D). relative concentration of ions

Choose the correct answer from the options given below

A)

(A), (B) and (C) only.
(A), (B) and (D) only.
(), (B), (C)and (D).
(

C)and (D) only

A)

Options :

878270172221. 1
878270172222.2
878270172223.3

878270172224. 4

Question Number : 46 Question Id : 87827043838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



35 ¥ BRGNS Hee & (GFR) 39 R MR &3l &

'_

(A) PRIGTET HRGIH AR A6 B To1 & 81d eRgReled AR H-Dlicd ald § i

(B) BRI B dTHe et @ Udla

< few e fadedl 4 € 981 TR T

1. ®ad (A), (B) IR (C)
EW{A}{BBTR (D)

3. (A), (B), (C) #R (D)
4 &ad (B), (C) 3R (D)

Options :

878270172221.1
878270172222.2
878270172223.3

878270172224. 4

Question Number : 47 Question Id : 87827043839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A decrease in the concentration of serum albumin lead to which of the following condition

1. Chronic liver disease
2. Hemochromatosis

3. Wilson disease

4 Cirrhosis

Options:
878270172225. 1

878270172226. 2 :
Qcollegedunlas

878270172227. 3 =



878270172228. 4

Question Number : 47 Question Id : 87827043839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URH Ui &1 gigdl § odt FgfaRaa § 9 69 [ld &1 Ru dl @

1. rHdIciD Jad I
2 gD HCIEE

3 fa A

4 RRIfeE

Options :

878270172225. 1
878270172226. 2
878270172227. 3

878270172228. 4

Question Number : 48 Question Id : 87827043840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A patient presents herself with stunted growth, web like neck and an absence of X chromosome. What would be your
diagnosis of this genetic condition?

1. Down syndrome
2. Turner syndrome
3. Klinefelter syndrome
4 cri du chat syndrome

Options :

878270172229. 1 :
gcollegedumas
878270172230. 2 -



878270172231.3

878270172232. 4

Question Number : 48 Question Id : 87827043840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 0 1 G 31 T 1 TG e R X TOR 1 Ui o S e e | 39 i el o ot
GUIEHERE ¥

1, S e
) TR U
3. faelthee? Wagm
4.7 g Je T

Options:

878270172229. 1
878270172230. 2
878270172231. 3

878270172232. 4

Question Number : 49 Question Id : 87827043841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main cause of liver failure?

1. Viral hepatitis

2. Deletion of chromosome Sp
3. Psychosomatic

4. Low Mg?* concentration

Options : .
P gcollegedumas

878270172233. 1 =



878270172234. 2
878270172235. 3

878270172236. 4

Question Number : 49 Question Id : 87827043841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad # U SH-91 g%d fahadl &1 533 SR 87

1. 9Rd gUergicy

2 [0 5p &I faadiuH
3. TGe®

4 Mg2* & & Tigdl

Options:

878270172233. 1
878270172234.2
878270172235. 3

878270172236. 4

Question Number : 50 Question Id : 87827043842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the rate of mortality in the acute liver failure?

1.10 % - 20%
2. 30 % - 40%
3.60 % -70%
4. upto 90%

gcollegedunias

~

Options :



878270172237. 1
878270172238. 2
878270172239. 3

878270172240. 4

Question Number : 50 Question Id : 87827043842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

did dgd fabad § gog & &l 872

1. 10%-20%
2. 30%-40%
3. 60%-70%
490 % d&

Options :

878270172237. 1
878270172238. 2
878270172239. 3

878270172240. 4

Question Number : 51 Question Id : 87827043843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In E coli the enzyme that fills gaps in duplexes by stepwise addition of nucleotides to 3' end is called:

1. Type Il restriction endonucleases
2. DNA polymerase |
3. DNAligase

4 Terminal transferase
gcollegedunias

~

Options :



878270172241. 1
878270172242. 2
878270172243. 3

878270172244. 4

Question Number : 51 Question Id : 87827043843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ol 4 de CoTeH ol gaas § 3 R W ftkiiergs & quag 9 gRI e & 4Rdl 8,34 Pl a1l o

1. 20 || Ty Te iy
2 ST IR |

3 T

4 T Ry

Options :

878270172241. 1
878270172242. 2
878270172243. 3

878270172244. 4

Question Number : 52 Question Id : 87827043844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enzyme reverse transcriptase

1. Joins RNA -ENA fragments
2. Makes a copy of DNA from an RNA molecule
3. Removes terminal phosphates from 5' end

4 Cleaves RNA at random positions
gcollegedunias

~

Options :



878270172245. 1
878270172246. 2
878270172247. 3

878270172248. 4

Question Number : 52 Question Id : 87827043844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rergy ey eiafmp

1. 3R T4 U-3R U9 U Wl di dlsdl g
2 IR TA.U U S T4 U DI yd e g
3. 5 iR O oftfq wiabe B g &

Options :

878270172245. 1
878270172246. 2
878270172247. 3

878270172248. 4

Question Number : 53 Question Id : 87827043845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-| List-ll

Type of food % trans fatty acids / gram
(A). French Fries |(I). 2

(B). Pizza (I1). 28

(C). Muffin (). 9

(D). Chocolate bar [(IV). 14

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)-(II), (B) - III} C)- (IV), (D) - (I}

3. (A)- (1), (B) - (I, (C) - (IV), (D) - (1)

4. (A) - (IV), (B) - (II1), (C) - (1), (D) - (11}
Options :

878270172249. 1
878270172250. 2
878270172251. 3

878270172252. 4

Question Number : 53 Question Id : 87827043845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



- & Y -1 BT e B

T I
YIST ©T WOTR % CI aerd ST (AT
(A) g WBISW  |(1) 2
(B) furm (1) 28
(C) =it (1) 9
(D) Siwdie a1 |(IV) 14

i feT 7T fadedl H 9 981 SR I |

1. (A) - (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (), {B‘-l’ll!} C)- (IV). (D) - (1)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (IV), (B) - (11}, (C) - |}:{D}—l‘.l|}

(
(

Options:

878270172249. 1
878270172250. 2
878270172251.3
878270172252. 4

Question Number : 54 Question Id : 87827043846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Another name for Vitamin D3 is:

1. Retinol

2. Dolichol

3. Tocopherol

4 Cholecalciferol

Options :
878270172253. 1

878270172254 2
878270172255. 3 @ collegedunias

~



878270172256. 4

Question Number : 54 Question Id : 87827043846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fae1f® D, &1 g8 AH B

1. {feqle
Sifcoid

TIBIhId
4 HITheTHd

[
2 £

Options :

878270172253. 1
878270172254. 2
878270172255. 3

878270172256. 4

Question Number : 55 Question Id : 87827043847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Warfarin has which of the following functions ?

1. Blood anticoagulant

2. Mitochondrial electron carnier
3. Antioxidant

4. A sugar carrier

Options :
878270172257. 1

878270172258 2 gcollegedunias
878270172259. 3 )



878270172260. 4

Question Number : 55 Question Id : 87827043847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafoRag # 91 19 9T o aRBRAT & 82

1. Yo Ul Tham

2 HiEcidisad saaciq de®
3. Uld Iudd®

4 oI dledD

Options :

878270172257. 1
878270172258. 2
878270172259. 3
878270172260. 4

Question Number : 56 Question Id : 87827043848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following statements are correct ?

(A). Some types of lipids play critical roles as cofactors or signals
(B). Prostaglandins are derived from arachidonate

(C). Steroid hormones are derived from sterols

(D). Vitamins D, A and E are fat soluble

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270172261. 1
878270172262. 2
878270172263. 3

878270172264. 4

Question Number : 56 Question Id : 87827043848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



T ey AT e T ST Tl 6 -
(A) TS TSR & A0S Ug-PRS 91 Ybd & T4 H Hgaqul YHamT A )

o =
[
| |

SHT 4 U Bid &

Y,

(B) UReTdlia T

(C) RIS MM ¥RId 4 U 8id &
(D) faer®= 31, v 3R 3 au1 ¥ go-sid 2|
I feu e fasedf § © T8 SR |

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270172261. 1
878270172262. 2
878270172263. 3

878270172264. 4

Question Number : 57 Question Id : 87827043849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Phosphatidylcholine and phosphatidylserine are examples of;

1. fatty acids

2. glycerolipids

3. glycerophospholipids
4. sphingolipids

Options:
878270172265. 1

878270172266. 2 :
Qcollegedunlas

878270172267. 3 =



878270172268. 4

Question Number : 57 Question Id : 87827043849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 9T 3
3. it Rwranifefts

4. %qj]ﬁl \l E].O

Options :

878270172265. 1
878270172266. 2
878270172267. 3

878270172268. 4

Question Number : 58 Question Id : 87827043850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-lI

Category

Examples

(A). Fatty acids

(). Tetracycline

(B). Prenol lipids

(II). Farnesol

(C). Saccharolipids

(). Lipopolysaccharide

(D). Polyketides

(IV).Oleate

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A)-(II), (B) - ill} (C)- (), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A)-(IV), (B) - {ll} (C) - (1), (D) - (1)
Options :

878270172269. 1
878270172270. 2
878270172271.3
878270172272. 4

Question Number : 58 Question Id : 87827043850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



- & Y -1 BT e B
il et

soft IaTeXT
(AyTdRT e |(1) SerEsiEaa
(B) WiHTa fEfus| () wHaE
(C) FHitaras (1) eS|
(D) UiciidcTss |(1v) fifte
TR e T et 5 3 98 SR o)

1. (A) - (), (B) - (IN), (C) - (111}, (D} - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
3. (A) - (i), (B) - (1), (C) - (IV), (D) - ()

4. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1)

Options:

878270172269. 1
878270172270. 2
878270172271.3
878270172272. 4

Question Number : 59 Question Id : 87827043851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-ll

List-l

List-lI

Animal plasma membrane

Type of sterol

(A). Human myelin sheath

(1). Sitosterol

(B). Maize leaf

(I1). Ergosterol

(C). Yeast

(1I1). Cholesterol

(D). Paramecium

(IV). Stigmasterol

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

), (B) - (1I), (C) -
Il

), (B) - (i), (C) -
I

— — S —

V), (B) - (Ill, (C) -

Options :

878270172273. 1
878270172274. 2
878270172275.3

878270172276. 4

Ii
l1I), (B) - (1), (C) - (1),
(1),

D
D

(D) - (IV)
(

(D
(

- (IV)
- (IV)

D) - (I

i e e
Tt T g™

Question Number : 59 Question Id : 87827043851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~
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Sitq T et [WRid @ ToR|
(AYHTE AT amau|(1) fEereRia
(BYyHaE &1 Il (1) i

(Cydte (I11) BrA=ETT

(D) TR RETH (1v) e

i 6T 7T fadedl # 9 981 SR I |

1. (A)-(D), (B) - (), (C j (111}, (D) - (IV)
2. (A)-(I), (B) —flI!} - (), (D) - (IV)
3. (A)- (), (B) - (1), {C} (I1), (D) - (IV)
4 (A)-(IV). (B)- (Il (C)- (1), (D)- (I

Options:

878270172273. 1
878270172274. 2
878270172275.3
878270172276. 4

Question Number : 60 Question Id : 87827043852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-ll

List-l

List-lI

lon channel defects

Disease

(A). Na”

(). Polycystic kidney disease

(B). Ca®* (I). Generalized epilepsy
(C). K¥ (). Cystic fibrosis
(D). Cr (IV). Dominant deafness

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1IT)

3. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (IV), (B) - (1), (C) - (1), (D) - (I1)
Options :

878270172277. 1
878270172278. 2
878270172279. 3

878270172280. 4

Question Number : 60 Question Id : 87827043852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tail-| 3R i1l BT T B

i GGIRT

3T 99 gy T

(A) Na* (1) 58 YT gah I
(B) Ca2* () S o
(C)K* (NIygeta YEmEgar
(D) Cl- (IV) & SRl

T iea T I s oR o

1. (A) - (1), (B) - (1), (C) - (1l1), (D) - (IV)
2 (A) - (), {E!I‘-[I (C) - (IV), (D) - (II)
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (1), (C) - (1}, (D) - (1)

Options:

878270172277. 1
878270172278. 2
878270172279.3

878270172280. 4

Question Number : 61 Question Id : 87827043853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a substrate-enzyme reaction, the term K; denotes which one of the following?

1. Equilibrium constant

2. Dissociation constant
3. Association constant
4 Turnover rate

Options :
878270172281. 1

878270172282. 2
@collegedunias

878270172283. 3

~



878270172284. 4

Question Number : 61 Question Id : 87827043853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% fhaTeR -Ueey Afifhar 8, 2reg K, Fafafad § 9 fog i

a1l
~3

1. 99 RRRI®
2 fage BRI
3. 9gioH RRI®
4. THIAET T

Options :

878270172281. 1
878270172282. 2
878270172283. 3

878270172284. 4

Question Number : 62 Question Id : 87827043854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metabolic condition in whcih the capacity of the body to buffer OH" is diminished, is called

1. acidosis
2. alkalosis
3. kurtosis
4 lipidosis

Options :

878270172285. 1 .
collegedunia:
878270172286. 2

~



878270172287.3

878270172288. 4

Question Number : 62 Question Id : 87827043854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg JUTd U o TR GRT OH 1 3 W1 &% T &7 9 &1 Il &, 1 gl ol

1 TS

3. Py

Options:

878270172285. 1
878270172286. 2
878270172287.3

878270172288. 4

Question Number : 63 Question Id : 87827043855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Immune cells that ingest large particles and cells by phagocytosis are called:

1. Macrophages

2. B lymphocytes
3. Cytotoxic T cells
4 Helper T cells

Options :

878270172289. 1 gcollegedunias
878270172290. 2 )



878270172291. 3

878270172292. 4

Question Number : 63 Question Id : 87827043855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fcREN SIS ol g3 BN AR DIB13M &I FFed & ... Fal 9l &

1. HelH&®d

2. B Ay

3. ggcieliays® T Ik
4 Gggd T DI

Options:

878270172289. 1
878270172290. 2
878270172291. 3
878270172292. 4

Question Number : 64 Question Id : 87827043856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Enzymes that are involved in the transfer of electrons (hydride ions or H atoms) are called:

1. Transferases

2. Hydrolases

3. Oxidoreductase
4 Ligases

Options :

878270172293 1 gcollegedunias
878270172294. 2 )



878270172295. 3

878270172296. 4

Question Number : 64 Question Id : 87827043856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i (BIESse TG I H IRA[T) & RIFGR H i TSgal & bel | &

Options:

878270172293. 1
878270172294. 2
878270172295. 3

878270172296. 4

Question Number : 65 Question Id : 87827043857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among following enzymes, which one has the highest turnover number (K.z)?

1. Catalase

2_ Carbonic anhydrase
3. Fumarase

4 Actylcholinesterase

Options :

878270172297 1 gcollegedunias
878270172298. 2 )



878270172299. 3

878270172300. 4

Question Number : 65 Question Id : 87827043857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofeiad toredl O g e-siiay 98l (Koy) 984 3iYd 8 2
1. aiE '-'.-'\'w

2. BEl-® TRRgd

4. UffeaPifer TR

Options:

878270172297. 1
878270172298. 2
878270172299. 3

878270172300. 4

Question Number : 66 Question Id : 87827043858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Albinism is a genetic disorder associated with

Heart
. Skin
- Kidney
Urine

Options : .
collegedunia:
878270172301. 1

~

L



878270172302. 2
878270172303. 3

878270172304. 4

Question Number : 66 Question Id : 87827043858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oImeHdl (Ufcafem) Te SERe JeR &

1.3cd
2 @l
3. gdd
4. T3

Options:

878270172301. 1
878270172302. 2
878270172303. 3

878270172304. 4

Question Number : 67 Question Id : 87827043859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Of the following pH values which one is the lowest

e e e
~N N = O

Options : gcollegedunias

878270172305. 1 )



878270172306. 2
878270172307. 3

878270172308. 4

Question Number : 67 Question Id : 87827043859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad pH 9FT & € g A Faada &

B s b
~N N =2 o

Options:

878270172305. 1
878270172306. 2
878270172307.3
878270172308. 4

Question Number : 68 Question Id : 87827043860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following Liver Function Tests, which one indicates the hepatocellular damage

1. AST
2. ALP
3. BIL

4 GGT

Options : gcollegedunias

8782701723009. 1 )



878270172310. 2
878270172311. 3

878270172312. 4

Question Number : 68 Question Id : 87827043860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad god orl e # I &F 9hd & SIRIeE TR W aifd &1 Hbd &dl &

e e
[ _%.-f._ ¥
=1 =
i}

A

Options:

878270172309. 1
878270172310. 2
878270172311.3
878270172312. 4

Question Number : 69 Question Id : 87827043861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The causes of increased Gamma-glutamyl Transferase (GGT) in human serum can be due to:
(A). Alcoholism

(B). Hepatitis

(C). Pancreatitis

(D). Liver metastasis

Choose the correct answer from the options given below:

Options :

878270172313. 1
878270172314. 2
878270172315. 3

878270172316. 4

Question Number : 69 Question Id : 87827043861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



AHd TRE § MHGEHE SmS(GeT) Hafe . & HRUE Uad! &
(A) A AT

(B) BUCTfeH

(C) SFATITRIY

(D)% d WYY

Td feu e fgwedl § 9 98 S| |

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270172313. 1
878270172314. 2
878270172315. 3

878270172316. 4

Question Number : 70 Question Id : 87827043862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Human acute liver failure can be due to

{A). viral hepatitis

(B). medicine

(C). toxins

(D). ischemia

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270172317.1
878270172318. 2
878270172319. 3

878270172320. 4

Question Number : 70 Question Id : 87827043862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A9 ¥ did dd [ABadl & SRSl 9ad &

(A) IXd gUcI3fed

(B) 3ufy
(C) faurad uerd
(D) T
Td feu e fgwedl § 9 98 S| |
1. ®dd (A), (B) 3R (D)
2. ad (A), (B) 3R (C)

3. (A), (B). (C) 3 (D)
4 ®ad (B), (C) 3R (D)

Options :

878270172317.1
878270172318. 2
878270172319. 3

878270172320. 4

Question Number : 71 Question Id : 87827043863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Read the following statements carefully

(A). ultracentrifugation separates molecules based on their density

(B). gel electrophoresis separates molecules based on their mobility in an electric field
(C). gel filtration separates molecules based on their size

(D). NMR separates molecules based on their proton signal

Choose the correct answer from the options given below:

1(A
2.(A
3. (A
4 (B

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C) and (D) only

), (
), (
), (
), (
Options :

878270172321. 1
878270172322. 2
878270172323. 3

878270172324. 4

Question Number : 71 Question Id : 87827043863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



frafcRed &yH! o1 GHYdS Te -
(A) T HYBZU 3T B 9D G & YR W 3eF Bl &

(B) SId 354d &V oo faegd &7 & i & 370! TIiad & YR W 3eH Hd &
C) S e (U @I 370 HBR & YR W 3T Bl &

D) NMR 3037l 1 3 WieHl God & YR TR 3eFT &l &

< few e famedl # ¥ §E I |

1. ®ad (A) (B) 3R (D)

2%?1(;&1}{5&%{ (C)
3. (A), (B), (C) 3R (D)

4 ©ad (B), (C) 3R (D)

Options :

878270172321. 1
878270172322. 2
878270172323. 3

878270172324. 4

Question Number : 72 Question Id : 87827043864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One Angstrom (A?) is equal to :

1. 0.1 nanometer
2. 0.01 nanometer
3. 0.001 nanometer
4. 0.01 micrometer

Options:
878270172325. 1

878270172326. 2 :
Qcollegedunlas

878270172327. 3 =



878270172328. 4

Question Number : 72 Question Id : 87827043864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U WREH (A?) & SRI& &

1.0.1 S-HRR

2 0.01 AR
3. 0.001 =T
4. 0.01 AEHHEE

Options :

878270172325. 1
878270172326. 2
878270172327.3

878270172328. 4

Question Number : 73 Question Id : 87827043865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 1953, Frederick Sanger determined the amino acid sequence of which protein?

1. caspase

2. hemoglobin

3. Insulin

4 DNA polymerase

Options :

878270172329. 1

878270172330. 2 gcollegedunias
878270172331.3 )



878270172332. 4

Question Number : 73 Question Id : 87827043865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1953 H, Thad WR - [ g UIdH & 3T ot 3ishd o1 FefRur fesar

1. g
2 éﬂﬂ-r: [

3. $gfeH o
4. 3T q.\ Hddd

Options :

878270172329. 1
878270172330. 2
878270172331.3
878270172332. 4

Question Number : 74 Question Id : 87827043866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A substance that receives electrons in an oxidation-reduction reaction is called:

1. Electron acceptor
2. Electron donor

3. Electron carrier
4_Eluate

Options :
878270172333. 1

878270172334, 2 gcollegedunias
878270172335. 3 )



878270172336. 4

Question Number : 74 Question Id : 87827043866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Uerd Sl SU=g-Siu=g SfHfchar § Sciaeil ol Ui &l & 39 Sgl &l &:

4. Femagg

Options :

878270172333. 1
878270172334. 2
878270172335. 3
878270172336. 4

Question Number : 75 Question Id : 87827043867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The substrate concentration at which an enzyme-catalyzed reaction proceeds at one-half of its velocity Is called:

1. Keat
2 Kn
3V
4 Vimay

Options :
878270172337 1
878270172338. 2 gcollegedunias

~

878270172339. 3



878270172340. 4

Question Number : 75 Question Id : 87827043867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpuryR Wiz forg W U (oge-3aiia i oue 4 & oY W &t omftd 31l 8, &1 Sel 9 &

1 Keat
2 Ky
3.V,
4 Vinax

Options :

878270172337. 1
878270172338. 2
878270172339. 3
878270172340. 4

gcollegedunias

~



